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7. Hoaddume odnacms onpedenchus ppytkyuu:
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2. Vkaxume rpaghuk wewémuod gyukyuu:
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3. fladdume odnacms prowenud gyrkyuu:

a)y = -Yeos x
7)/[-7:77 2)[-4 0] 3) (-4 1/ 4) (%0, )
by = 3¢n x/2
7)/~75 7,5/ 2) /-3 3/ 3) (3 3) 2 /[~7 1/
£y =cinx-2
7) (5 -1] 2)(0,) 177 7) /-3 o]

r)y=¢an’x+3
7)(0:7] 2) 54/ 3)(0:9/ 7) /[0 3/



2 2 Y =cosx




HHrdidume nepucd ghyHkyuL:
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Locmpoime rpaguk gyukguu
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fadidume ocrofuod nepuod PYHKYUU:

a/y: Srn Sx 7= Z]T/f

J]y:cord5x /=T

£ y= cin (-x/2 +1T) 4

ar



[Taddume HaumeHbmud noroxamenstoldl nepuod gyHKGu:

a) y= cin 2x 7 =TT
J]y: 3 cos (-0, 75x) 7 = STT/3
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